

Ardito Construction Company Inc.

2216 Wakita Dr. SE Marietta, GA 30060

chuck.ardito@arditoconstruction.com

Estimate

Date	Estimate #		
9/22/2017	405		

Name / Address	Project
City of Powder Springs 3006 Springs Industrial Dr. Powder Springs, Ga. 30127	Roadway Repairs

Description	Qty	Unit	Unit Price	Total
Roadway Repairs				
4001 Macedonia Road (5 x 6 ft.)				
- Asphalt/ Concrete Saw Cut		L.F.	1.00	20.00
- Haul Off (Concrete/ Asphalt)	2.5	C.Y.	20.00	50.00
- Traffic Control (Including Steel Road Plates)	2	EA	250.00	500.00
- Contractor's Hourly Rate	4	Hrs	250.00	1,000.00
NOTE: Excavate Existing Road Cut and Trench Compaction				
- 8 inches GAB, 6 inches Concrete, Trench Cap 1 foot larger than	48	S.F.	10.25	492.00
ditch in all directions Tack Coat 2 inches Type E or F Asphalt 4001 Macedonia Road Total:				2 2 5 2 2 2
4001 Macedonia Road Total:				2,062.00
3199 Macedonia Road (5 x 6 ft.)				
- Asphalt/ Concrete Saw Cut	20	L.F.	1.00	20.00
- Haul Off (Concrete/ Asphalt)		C.Y.	20.00	50.00
- Traffic Control (Including Steel Road Plates)		EA	250.00	500.00
- Contractor's Hourly Rate	4	Hrs.	250.00	1,000.00
NOTE: Excavate Existing Road Cut and Trench Compaction	•	1		1,000.00
- 8 inches GAB, 6 inches Concrete, Trench Cap 1 foot larger than	48	S.F.	10.25	492.00
ditch in all directions Tack Coat 2 inches Type E or F Asphalt				
3199 Macedonia Road Total:				2,062.00
3021 Old Lost Mountain Road (5 x 11 ft.)				
- Asphalt/ Concrete Saw Cut	25	L.F.	1.00	25.00
- Haul Off (Concrete/ Asphalt)	4	C.Y.	20.00	80.00
- Traffic Control (Including Steel Road Plates)	2	EA	250.00	500.00
- Contractor's Hourly Rate	5	Hrs.	250.00	1,250.00
NOTE: Excavate Existing Road Cut and Trench Compaction]		
- 8 inches GAB, 6 inches Concrete, Trench Cap 1 foot larger than	78	S.F.	10.25	799.50
ditch in all directions Tack Coat 2 inches Type E or F Asphalt				
3021 Old Lost Mountain Road Total:		!		2,654.50
Please Call Me If You Have Any Questions Or Concerns:(678) 618-0240				
Thease Call live it four have Any Questions Of Concerns:(078) 618-0240	Est	Estimate Total: \$6,778.50		

Robert Kellett

From:

Robert Kellett

Sent:

Friday, September 15, 2017 1:10 PM

To:

'chuck.ardito@arditoconstruction.com'

Cc:

Robert Kellett

Subject:

Road repairs

The City of Powder Springs is seeking your quote on 3 road repairs. The scope of this project include. 4001 Macedonia Road size of cut (5' X 6'), 3199 Macedonia Road size of cut (5' X 6'), 3021 old Lost Mountain Road size cut (5' X 11')

- 1 Excavate existing road cuts then compact 8 inch of G A B
- 2 Trench cap 1 foot large larger than existing cut in all directions then pour a of 6 inches concrete cap
- 3 Tack coat 2 inches type E or F asphalt
- 4 Traffic control
- 5 all work must comply with local, state and federal regulations

Please, you are advice to visit the proposed sites to acquaint yourself with the scope of work before submitting your quote by Tuesday September 26 / 2017 at 12:00 pm. For further question please contact me at 770-943-8010

Thank you

Robert Kellett

Water and Sewer Supervisor

Public Work Department 3006 Springs Industrial Dr. Powder Springs, Ga. 30127 Phone: 770-943-8010 ext. 104

Fax:

770-943-8014

rkellett@cityofpowdersprings.org

Robert Kellett

From:

Robert Kellett

Sent:

Friday, September 15, 2017 1:18 PM

To:

'Ted@kennedytillman.com'

Cc:

Robert Kellett

Subject:

FW: Road repairs

The City of Powder Springs is seeking your quote on 3 road repairs. The scope of this project include . 4001 Macedonia Road size of cut (5' X 6'), 3199 Macedonia Road size of cut (5' X 6'), 3021 old Lost Mountain Road size cut (5' X 11')

1 Excavate existing road cuts then compact 8 inch of G A B

- 2 Trench cap 1 foot large larger than existing cut in all directions then pour a of 6 inches concrete cap
- 3 Tack coat 2 inches type E or F asphalt
- 4 Traffic control
- 5 all work must comply with local, state and federal regulations

Please, you are advice to visit the proposed sites to acquaint yourself with the scope of work before submitting your quote by Tuesday September 26 / 2017 at 12:00 pm. For further question please contact me at 770-943-8010

Thank you

Robert Kellett

Water and Sewer Supervisor

Public Work Department 3006 Springs Industrial Dr. Powder Springs, Ga. 30127

Phone: 770-943-8010 ext. 104

770-943-8014 Fax:

rkellett@cityofpowdersprings.org

Robert Kellett

From:

Robert Kellett

Sent:

Friday, September 15, 2017 1:20 PM

To:

'dwight@sitengineeringc.com'

Cc:

Robert Kellett

Subject:

FW: Road repairs

The City of Powder Springs is seeking your quote on 3 road repairs. The scope of this project include: 4001 Macedonia Road size of cut (5' X 6'), 3199 Macedonia Road size of cut (5' X 6'), 3021 old Lost Mountain Road size cut (5' X 11')

1 Excavate existing road cuts then compact 8 inch of G A B

- 2 Trench cap 1 foot large larger than existing cut in all directions then pour a of 6 inches concrete cap
- 3 Tack coat 2 inches type E or F asphalt
- 4 Traffic control
- 5 all work must comply with local, state and federal regulations

Please, you are advice to visit the proposed sites to acquaint yourself with the scope of work before submitting your quote by Tuesday September 26 / 2017 at 12:00 pm. For further question please contact me at 770-943-8010

Thank you

Robert Kellett

Water and Sewer Supervisor

Public Work Department 3006 Springs Industrial Dr. Powder Springs, Ga. 30127

Phone: 770-943-8010 ext. 104

Fax:

770-943-8014

rkellett@cityofpowdersprings.org